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08 |m & M HE| R B| PR | FHEE | kR | ES58 5 BEE | b/ax100
2, @ a (on) (an) (g) b (am) (%)
H2 St. 1 [\ 1 48 44 39
4 148 ? 2 52 51 70 37 71
St.5 1 8 53 49 68
? 4 64 60 126 48 75
5H21R| St.2 o 2 41 38 28
? 1 44 40 33 22 50
St. 4 1 2 65 58 128
? 1 55 50 76 30 54
St.5 \¢ 1 70 65 180
6A118 | St. 1 Q 1 53 48 65
St. 3 o 2 43 40 31
St. 4 1 3 52 50 70
? 4 64 59 116 46 72
7H2H|St. 4 vg 7 73 67 186
2 16 66 61 125 47 71
8A17TA | St.3 1 6 51 49 67
= 17 55 52 75 36 65
St.5 vy 5 67 63 - 170
? 5 66 62 126 46 70
9A7TAH|St. 2 Ny 6 52 48 66
? 4 52 49 62 36 69
St.3 oy 1 46 43 46
? 1 58 53 79 41 71
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FHA|m & -3 B PR E | CEGRG | CFDRE | G55 ER | b/ax100
, @ a (on) (mn) (g) b (za) (%)
9AT7H|St.4 2 1 53 49 64 35 66
St.5 \¢ 4 66 59 182
? 5 63 59 116 45 71
10258 | St. 1 \¢ 1 52 47 74
? 2 53 50 70 40 75
St. 2 Q 3 54 51 88
? 2 46 45 45 33 72
St. 3 g 3 47 44 53
? 3 54 51 70 39 72
St. 4 2 1 54 50 64 27 50
St.5 N1 4 58 53 100
11168 | St. 1 [\ 1 70 62 151
? 3 50 49 58 36 72
St. 2 = 2 50 47 95 37 74
S5t.3 o 1 61 56 89
? 1 49 45 51 26 53
St. 4 ? 1 56 53 75 34 61
St. 5 ? 1 60 57 106 35 58
123148 | St. 1 ? 1 50 44 60 36 72
St. 5 ? 3 50 47 59 35 70
H3 St. 1 ? 5 56 54 66 42 75
1A22H | St. 4 Ny 1 50 47 55
2H19A | st. 3 ? 2 41 39 34 28 68
3A21A | St. 1 Ny 1 64 62 130
? 8 58 56 79 36 62
St. 2 ? 2 30 29 28 20 67
St. 4 N4 1 43 40 31

—-193—



	page1
	page2
	page3

